1.) Given: AC = AB + AB
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Prove: AB BC

Statement Reason

AB + AB=AC

AB +BC =AC

AB + BC =AB + AB

BC = AB

2.) Given: £1=2 Z4

Prove: £22 /£3

Statement Reason

L1= /L2

£3= /4

1= /L4

£2=/3
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3.) Given: Z1=2 /3
Prove: mZEBA = mZDBC

Statement Reason

ZCBE + ZEBD = ZCBD

ZEBD + £ DBA = ZEBA

ZCBE = ZDBA

ZEBD = ZCBD - ZCBE

ZEBD = ZEBA - ZDBA

ZCBD - ZCBE = ZEBA - ZDBA

ZCBD - ZDBA = ZEBA - ZDBA

ZCBD = ZEBA



GEOMETRY WORKSHEET---BEGINNING PROOFS

| Given: =1 Prove: x=7
Il. Given: AC=BD
Prove: AB=CD A B C D
| B B |
1. AC=BD 1.
2. AC=AB +BC 2.
BD=BC+CD
3. AB+BC=BC+CD 3.
4, AB=CD 4,
A D
3 4
1

1. Given: mz1=mz2; mz3=mz4
Prove: m~« ABC =m« DEF
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1. mz1l=mz2, mz3=mz4 1.
2. mz1l+mz3=mz2+mz4 2.
3. mz1+m 3=mzABC 3.

mz2+mz4=mzDEF

4. mzABC =m«DEF 4.
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IV. Given: 22 = »3 y g

Prove: 2«21 = «4
1. 21 = 2«2 1.
2. 22 = «3 2.
3. 23 = «4 3.
4, 21 = z4 4,
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V. Given: z1and «2 are complementary A C
Prove: ﬁ\) 1 XC
1. z1land «2 are complementary | 1.
2. mz1+ me2= 2.
3. MzAXC =mz1+mz?2 3.
4. mzAXC = 4.
5. zAXC s aright angle 5.
6. 6. ) 1 ‘
« /3 >

. < 4 .
VI. Given: « 1and «2 are supplementary ) y -

Prove: «3 and «4 are supplementary
1. 1. Given
2. 2. Def. of supplementary angles
3. 3. Vertical angles are congruent
4. 4. Def. of congruent angles
5. 5. Substitution

6. Def. of




VIl. Given: BD bisects <EBC
Prove: <1 and <3 are supplementary

statements

1. BD bisects <EBC
2. <1z=<2
3. <2 and <3 form a linear pair

4. m<2 +m<3 =180

5. m<1l=m<2
6. m<1l+ m<3=180

7. <1 and <3 are supplementary

VIIl. Given: <FEC isaright angle
Prove: <1 and <4 are complementary

statements

1. <FEC is aright angle
2. m<FEC =90

3. m<FEC = m<1 + m<2
4. m<1+m<2=90

5. <2=<4

6. m<2=m<4

7. m<1+m<4=90

8. <l and <4 are complementary

reasons

reasons




IX. Given: <2 =<3

Prove: <1=<4

statements

2\
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1. <1 and <2 form a linear pair
<3 and <4 form a linear pair

2. <l and <2 are supp.
<4 and <3 are supp.

3. <2=<3

4, <1=<4

X. Given: <2 =<3
Prove: <1=<4

statements

1. <1 and <2 form a linear pair
<3 and <4 form a linear pair

2. m<1+m<2=180
m<3 + m<4 =180

3. m<1+ m<2=m<3+ m<4
4, <2=<3

5. m<2=m<3

6. m<1=m<4

7. <1=<4

reasons
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Name:

Segment and Angle Proofs Worksheet

Write a two column proof to prove the statement.

1) Given: HI =13 " |
IDJ=13
13 OJH
Prove: HI O k
2)  Given: AL = SK S S —
Prove: AS = LK
D E
3) Given: DG =11
GF=11
GF OEF
Prove: DG OEF G




4) Given: FROAN E
Prove: FAURN
5) Given: Oland 02 are complementary.
01c 03
02C 04
Prove: O3and 04 are complementary. < >
6) Given: OeLC 07
Prove: 05008




7) Given:

02003 /v \
O1C 04 p 2 3\_,

Prove:
/ X
8) Given: Oland 02 are a linear pair.
O2and (O3 are a linear pair. 1.
Prove: 01C O3 3
9) Given: O5and (06 are a linear pair.

Prove:

O6and 7 are a linear pair.
asc o7 6




10) Given: OADOC
OB OD
Prove: 01C O3
11) Given: OAis complementary to [JADB.
OC is complementary to [ICDB.
DBbisects [ADC.
Prove: OACOC A
12) Given: O2is supplementary to [13.

Prove:
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